Unit 9 Practice Problems
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10) Marie walks to work in an hour. Riding her bike takes only one-
quarter of an hour. How much time does she save riding her bike?

11) Darin mowed 3/10 of the lawn and Linda mowed 5/10 of the lawn.
How much of the lawn has been mowed?

Thought Questions to Improve Understanding
Look at your answers. Do they make sense? For problem 3, does
the answer of 3/3 = 1 look like it might be the sum of 2/3 and1/3?

Unit 9 answers are on page 237.
Unit 9 additional practice problems are on page 164.
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